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QUESTION 1

A vSphere administrator uses vMotion to migrate a virtual machine between two ESXi hosts and notices that they can
no longer ping the VM. 

What is the cause? 

A. The destination host has an incorrect VLAN tag on the virtual machine port group for the VM. 

B. The destination host has two port groups with the same VLAN tag. 

C. There is an MTU mismatch. 

D. The virtual machine has RDMs attached. 

Correct Answer: B 

 

QUESTION 2

Which three virtual hardware configurations will allow snapshots? (Choose three.) 

A. 16+ vCPU 

B. full memory reservation 

C. Physical Mode RDMs 

D. Virtual Mode RDMs 

E. bus sharing 

Correct Answer: ABD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID53F65726-A23B-4CF0-A7D5-48E584B88613.html 

 

QUESTION 3

When using vSAN, all the storage characteristics are specified by Storage Policies. 

Which parameter in vSAN Storage Policies can increase performance in a cache miss situation? 

A. Number of failures to tolerate 

B. Number of disk stripes per object 

C. Force provisioning 

D. Object space reservation (%) 

Correct Answer: B 
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Reference: https://blogs.vmware.com/virtualblocks/2016/09/19/vsan-stripes/ 

 

QUESTION 4

What three steps are necessary to enable Jumbo Frames for use with an iSCSI storage array? (Choose three.) 

A. Configure the MTU on the VMKernel port. 

B. Configure the MTU on the virtual switch. 

C. Configure the MTU on the physical switch. 

D. Configure the MTU on the LAG group. 

E. Configure the MTU on the VTEP. 

Correct Answer: ABC 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.networking.doc/GUID53F968D9-2F91-41DA-B7B2-48394D997F2A.html 

 

QUESTION 5

Which two statements are correct when licensing an ESXi 6.x host? (Choose two.) 

A. ESXi licenses can only applied to ESXi hosts connected to a vCenter Server. 

B. Bulk licensing requires vSphere Auto Deploy to be enabled. 

C. ESXi licenses can be assigned utilizing the ESXi host client. 

D. Bulk licensing requires vSphere PowerCLI. 

Correct Answer: CD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.install.doc/GUID28D25806-748B-49C0-97A1-E7DE5CB335A9.html 
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